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Equations



© Boardworks 20122 of 15

Information
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Combining like terms
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Combining like terms with negatives

How can we combine like terms in this equation?

–4x + 2x + x = 50

–4x is the same as – x – x – x – x

2x is the same as x + x

We could write the equation as:

– x – x – x – x + x + x = 50
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Combining like terms with negatives

How can we simplify this?

x – x = 0, so:
– x – x – x – x + x + x + x = 50

0
– x – x – x + x + x = 50

0
– x – x + x = 50

0
– x = 50

Now we can solve the equation:

x = –50
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Algebraic pyramids
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Exponents

How could we combine like terms in this equation?

x2 + 2x + x + 2 + 2x2 = 25

Are x and x2 like terms? Why or why not?

No. 2x means x + x, 

Can we combine x2 and 2x2? Why or why not?

Yes.
x2 + 2x2 is the same as (x · x) + (x · x) + (x · x), or 3x2.

but 2x2 means (x · x) + (x · x).
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Exponents

How could we simplify the equation?

x2 + 2x + x + 2 + 2x2 = 25
Combine like terms.
x2 + 2x + x + 2 + 2x2 = 25

3x2 + 2x + x + 2 = 25

3x2 + 3x + 2 = 25

3x2 + 3x = 23
Subtract 2 from both sides.
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Algebraic magic square
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Properties of numbers
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Parentheses in equations
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Algebraic multiplication square
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Matching equivalent expressions



© Boardworks 201214 of 15

I’m thinking of a number…
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How many solutions?
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